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void setup() {
pinMode(2,0UTPUT);
}

void loop() {
digitalWrite(2,HIGH);
delay(1000);
digitalWrite(2,LOW);
delay(1500);

}
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void setup() {

pinMode(2,0UTPUT);
}

void loop() {

delay(1000);
digitalWrite(2,LOW); &
delay(1500);

digitalWrite(2,HIGH); =
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( void setup() {
pinMode(2,0UTPUT);
}

void loop() {
digitalWrite(2,HIGH);
delay(1000);
digitalWrite(2,LOW);
delay(1500);

}
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( void setup() { )
pinMode(7,INPUT);
pinMode(2,0UTPUT); }
void loop() {
if (digitalRead(7)==HIGH)
{digitalWrite(2,HIGH);
delay(2000); 2%
digitalWrite(2,LOW);}
}
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void setup() {
pinMode(7,INPUT);
pinMode(2,0UTPUT); }

voidloop(O{  wawmemmTmm
while (digitalRead(7)==LOW) { }
digitalWrite(2,HIGH);
delay(2000); ==2%»
digitalWrite(2,LOW);

}
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void setup() {
pinMode(7,INPUT);
pinMode(2,0UTPUT); }

voidloopO{ g pypy

if (digitalRead(7)==HIGH)
{digitalWrite(2,HIGH);
delay(2000); 727
digitalWrite(2,LOW); }

else
{digitalWrite(2,HIGH);
delay(100);rq
digitalWrite(2,LOW);
delay(100); }
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void setup() { void setup() {
pinMode(2,0UTPUT); pinMode(2,0UTPUT);
pinMode(8,INPUT); } pinMode(8,INPUT); }
void loop() { void loop() {
if(digitalRead(8)==LOW) \::Ivhl‘le(f\l/l\?l'talzejféi)f=LOW)
{digitalWrite(2,HIGH); } 3, 'Qt'tfw Tt'tez( e i
else { digitalWrite(2,LOW); } }'9' alWrite(2,LOW);
}
if (D8Z2IEE M) {P91)
else (i} H3EET }1;55;?&;%?% filffg
=] L — <
: ko B
V0|dsetup(){ [o] OO0Oo0OO0OO0 OO0Oo0OO0OO0 ooo\oﬂ
plnMode(Z,OUTPUT), O 00OO0O0OO 00O0OO %oo
pinMode(8,INPUT); } a;:aa;aazézzzmo‘zgz;
O0O00O000000O00O0OD0O0O0O0OD0OOO0
@0 0elooocooe(C=)e0000O0
Void |oop() { D12D11D10 D9 D8 D7 D6 D5 D4 D3 DZGNDRSTRXOTX18 g gg g g g g g g g g g g g
if(digitalRead(8)==LOW) Ut B pinohano
{digitalWrite(2,HIGH); R NN o o ccco0cco000a
de|ay(200) O0000000D0D0D000D0O0DO0O0O0D0ODO0ODO0DODODOD0ODO0OOO
! O0OO0OO0OO0OO0OOOO0OOO 0O0O0O0O00O0O0OO0O0O0OO0O0ODOODOO
digitalWrite(2,LOW); gzzzzzzzziziizss233333333333
delay(zoo)l} Oo0O0Oo OO0Oo0OO0OO0 \kOOO OO0Oo0OO0OO0 OO0O0O0O0
else Oo0O0Oo OO0Oo0OO0OO0 [o] (o2 e o] OO0OO0OO0OO0 O O0OO0OO0Oo

{digitalWrite(2,LOW);} }

/
oo (|/q=22k




B0 AT FRETHARR

B Bdfe T Ebay 2 X — 8 — 4% 4.5V

R
. E
DR
t4.5V Arduino
4
7&:& R 25
(R Er R —1a38)
A Ew v BGERTETH D8 D2
Rg[]SOkQ
= 4 N\
X NER
T sagap
gt TR PR RER
C
BCE E
NPNE & %8
. J
1f(D8Z & & i)
wigh g 5 EMED2) - -
B Bl (3t 4 & B 4 D2} BEA 2B
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void setup() {

}

void loop() {

pinMode(2,0UTPUT);
pinMode(4,INPUT);
pinMode(8,INPUT);

if(digitalRead(4)==LOW
&& digitalRead(8)==LOW) {

EE A BB RIELEEE
TRt —mEtRkEm &

A s oA aa

_‘_\_\_.‘%Fm
O)\IG')CH#Q)N—‘O‘F_
o oo 60

No oA wN -
O0O0O0OO0O0O0

. . ) T ArduinoNano
dlgltaIerte(Z,HIGH), D133V3REF A0 A1 A2 A3 A4 A5 A6 A7 5V RsTapu [© © © ©
® 00000000000 000|ODOCOO0DODODODODODODOODOOO
} 000000000000 O Q#"9 @.,8#8|0 O O 0O 0O 0 0O
OO0OO0OO0OOOOOOOOO OO0OO0OO0OO0OO0OO0OO
else{ 0O0D0O0D0DO0000O0O 0Oo0o00O0O0OO0O
o @ o . \88%’38@@8%’38 dW e ~v~oorwn
digitalWrite(2,LOW); \\.oooo — ————
} OO0OO0OO0O OO OO0 O00OO0OO0OO
}
R1 150Q #z%k4z4
R2 3000 #Exse
&FE && Eiﬁi “ glﬂ‘ﬁ%é%f% R8 BOkQ *é;i!i#;éé'\
BHMATEE B ATRE RIO 6.2MQ E4rsks

10




BT for 1= B Fv P 64 15

éfﬂ\é

for (F%R1E; FRE 8REEIEE)
{ B
}
B A BT
BERERERE

trﬁézégff

O0Oo0o0o0O

(o] [eJe o]
Oo0O0OO0OO0 r o
Bgalisoioniscnvohsen

/2B RNEERERY

000000000 O ® 00O oooo
0000000000 000O0O0DO0D0O0O0OD0ODODODO0OOOO0OO0O0O
0000000000000 0[0c00OCOCOCMKLC=)e0000

[ ) [
D12011D10.D9 D8 D7 D6 D5 D4 D3 D2 N0 RSTROTH o 0 0 0 0 © 6 0 © 0 0 O O
E O OO0 O0O0OO0OO0O0O0O0O0OO0OO

rst  ArduinoNano

D133V3REF AD A1 A2 A3 A4 A5 A6 A7 5V RsTeNDVN |© © © © © OO0 00000000
0 00 ® 0000000000 O0OO0ODODODODODODODODODODODOO
O00000000D0D0DO0ODO0ODO0ODODODODODODODODOODODODOODOOO
O O0O0O0
O O O

Arduino

4
D2l 2 @_
300Q

oo
[ele]
oo

0= L2
=

'Ug

S

F1EEZES  PIEIOR

for(i=1;i<=10;i=i+1)
{ =0.5#
H0.5% }

{(YEEMNEAERNTIOR

O0O0O0O0OO0OOOOOOOO [o] 0O0O0OO0OO0OO0OOOOOO
O0O0O0O0O0OOOOOOO (o] [o] 0O0OO0OO0OO0O0OOOOOOO
NS BRYBREBREBIpsa2aniscavoaren -
\\OOOO O0OO0OO0OO0OO \ O 0O O0OO0O0O0O O0O0OO0OO0O
O 00O OO0OO0OOO o O 0O O0OO0O0OO0O0 O0OO0OO0O0
* ‘ M8k L PYHIE
F2E2 PO 8 R P12

for (n=100;n<=800;n=n+100)
{=0.1*nF
HO0.1*n#> 1}
{(EENEXZHTER
£1%n=100

£2%n=200

£8%Xn=800

- UM E I Einteger
inti; inti ESIE2EHEH
void setup() {

pinMode(2,0UTPUT); }

void loop(){

gfor(i: L;i<=10;i=i+1{  pymiox |
¢ digitalWrite(2,HIGH);
delay(500);

digitalWrite(2,LOW);

L delay(S00): }

delay(2000); =2
}

inti;
void setup() {
pinMode(2,0UTPUT); }

void loop(){

for (i =100;i <=800;i=i+100){
. digitalWrite(2,HIGH);
delay(i);

. digitalWrite(2,LOW);

- delay(500); }

delay(2000); %7527
}
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void setup() {

pinMode(2,0UTPUT); } %
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void setup() {

void setup() {
pinMode(2,0UTPUT); pinMode(2,0UTPUT);
}

}
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void loop() {
flash(2); r10%
delay(1000);

void loop() {
flash(2,5); B35=%
delay(1000);
flash(2,15); B315%

L : delay(2000);

. void flash(int n) { RMES )
- for(inti=Lii<=10; ':'+1). PI10R |
{ digitalWrite(n,HIGH); . void flash(int n,int m) { PR T 3t |
delay(100); : .

for(inti=1l;i<=m;i=i+1) EE&4
{ digitalWrite(n,HIGH); :

: : delay(100);

digitalWrite(n,LOW);

N : delay(100); }

digitalWrite(n,LOW);
delay(100); }
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void setup() {

D2

D4

pinMode(2,0UTPUT);
pinMode(4,0UTPUT);
}

void loop() {
digitalWrite(2,HIGH); 4T t&
digitalWrite(4,LOW);
delay(1000);
digitalWrite(2,LOW);
digitalWrite(4,HIGH); 4% /&
delay(1000);
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void setup() {
pinMode(2,0UTPUT);
pinMode(4,0UTPUT);
}

void loop() {
T
. digitalWrite(4,LOW);

. delay(2000);

- flash(2); pIIE

- digitalWrite(2,LOW);

. digitalWrite(4,HIGH); # &

. delay(2000);

 flash(4); p3#21%

for (inti=1;i<=10;i=i+1)

. { digitalWrite(n,HIGH);
delay(100);
digitalWrite(n,LOW);
delay(100); } }
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inti;

void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,0UTPUT);

}

void loop() {
for(i=2;i<=4;i=i+1)
{digitalWrite(i,HIGH);
delay(2000);
digitalWrite(i,LOW); }
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analogWrite()
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void setup(){ —
pinMode(3,0UTPUT); } PWM —~( \/
Pulse Width Modulation
VI o Hﬁg??&gr%ﬁﬂm?
digitalWrite(3,HIGH): IKEY 52 S ARl V)=
dngy ( ) ABZHERANTES
= . PREIEEYAEE - LLRE S
digitalWrite(3,LOW); P M 8 B 5 25 6 5 S SRR 1 T % - —“Elﬁﬂi%
delay(8); 1}
52500 23282 20298 zz;?‘: 230l
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void setup(){
pinMode(3,0UTPUT); }

void loop(){
digitalWrite(3,HIGH);
delay(8);
digitalWrite(3,LOW);
delay(2); }

analogWrite (i fir, ik & & /%)

analogWriteiz 1845 4

& 5 4 APWMAR 8 4 12 5% >

Fir LA B AL Bep 5T LA 8 48 LB A3 3%
R#E3,5,6,9,10, 11355 % By

ST L AanalogWritedy & #8 b 12 3% -
Wik 167 3 B 420822552 R -

#= A8 15255 2568] 4R [0 »
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analogWrite(3,0) =digitalWrite(3, LOW)

analogWrite(3,255) =digitalWrite(3, HIGH)
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int 1;
void setup(){
pinMode (3,0UTPUT) ;
}

void loop(){
analogWrite(3,50) 14=

delay(500);
analogWrite(3,255) ;&=
delay(500);

}
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&EEE=4.5v*n/1023
A mEV2Hve D Rl 2% /h?
intv2,v6;
void loop(){ & F#=4.5v*n/1023
v2 = analogRead(A2); _ * 55 [EF
v6=analogRead(A6); n=1023"%&/4.5
} o
=R

v2=1023*0.45/4.5
=102

v6=1023*2.25/4.5
=512
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intaa;
void setup(){
pinMode(3,0UTPUT);
}

void loop(){
aa = analogRead(5);
analogWrite(3,255-aa/4);
}

F2ME 2T
A% 2w, LEDPJ i A% B

intaa;
void setup(){
pinMode(3,0UTPUT);

}

void loop(){

aa = analogRead(5);
digitalWrite(3,HIGH);
delay(aa);
digitalWrite(3,LOW);
delay(aa);
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intaa=0;
void setup(){
pinMode(3,0UTPUT);
}

void loop(){
aa = analogRead(5);
analogWrite(3,255-aa/4);
}
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void setup() {
pinMode(2,OUTPUT);
pinMode(3,0UTPUT);
pinMode(4,0UTPUT);
}

void loop() {

intaa = analogRead(A5);

int bb = map(aa, 0,1000, 0,7);

switch (bb) {

case 0:
digitalWrite(2,LOW);
digitalWrite(3,LOW);
digitalWrite(4,LOW);
break;

case 1:
digitalWrite(2,HIGH);
digitalWrite(3,LOW);
digitalWrite(4,LOW);
break;

case 2:
digitalWrite(2,LOW);
digitalWrite(3,HIGH);
digitalWrite(4,LOW);
break;

case 3:
digitalWrite(2,HIGH);
digitalWrite(3,HIGH);
digitalWrite(4,LOW);
break;

case 4:
digitalWrite(2,LOW);
digitalWrite(3,LOW);
digitalWrite(4,HIGH);
break;

case 5:
digitalWrite(2,HIGH);
digitalWrite(3,LOW);
digitalWrite(4,HIGH);
break;

case 6:
digitalWrite(2,LOW);
digitalWrite(3,HIGH);
digitalWrite(4,HIGH);
break;

case7:
digitalWrite(2,HIGH);
digitalWrite(3,HIGH);
digitalWrite(4,HIGH);
break;
}
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void setup() {
pinMode(2,0UTPUT); }

void loop() {

for (floati=0;i<=1000;i=i+10)

{ digitalWrite(2,HIGH);
delayMicroseconds(i);
digitalWrite(2,LOW);
delayMicroseconds(i); }

} WY BEEE!

F2{EE

R SRENTL % L E
EEASE
RO E—R
MR(FE 1050 E)

(BHEB=% )

void setup() {
pinMode(2,0UTPUT); }

void loop()

{ vl=analogRead(A5);
delay(100);
v2=analogRead(A5);
if (abs(v2-v1) > 10)

{buzz();buzz();buzz();}

void buzz(){ EHBEE

for (floati=0;i<=1000;i=i+10)

. { digitalWrite(2,HIGH);
delayMicroseconds(i);
digitalWrite(2,LOW);
delayMicroseconds(i);} }
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void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,0UTPUT);
pinMode(5,OUTPUT);

}

!

!

!

- = = =

!

void Ioop(){

§d|g|ta|Wr|te(2 HIGH)
 digitalWrite(3,LOW); | pgazi
:digitalWrite(4,LOW);
- digitalWrite(5,LOW);

delay(500);

H2MEE T

void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,0UTPUT);
pinMode(5,OUTPUT);

) EERD
B E U EN1E?
void loop() {

d|g|taIWr|te(2 HIGH)
dlgltaIerte(3 LOW);
dlgltaIerte(4 HIGH)
dlgltaIerte(S LOW);

.................................................................

%dlgltaIerte(B,HIGH);
-digitalWrite(4,LOW);
i digitalWrite(5,HIGH);

.................................................................

delay(1000);
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co00 coooo void setup() {
N - pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
( JE
( JE

pinMode(4,0UTPUT
pinMode(5,0UTPUT

!

!

E1ERR A 75 }

ATME 08 - BUME - B0 Vo|d|oop(){ .................................

forward(); 77 IEEE

void setup() { . delay(1000); 5 #5145
p!nMode(Z, OUTPUT); backward();# iz
pinMode(3, OUTPUT); . delay(1000); 5 w14
pinMode(4, OUTPUT); L)
pinMode(5, OUTPUT); R

\ e
. digitalWrite(2,HIGH); :
veleleeait p digitalwrite3,LOW);
:digl ! : . digitalWrite(4,HIGH); :
 digitalWrite(3, LOW); t .. . digitalWrite(5,LOW);
digitalWrite(4, HIGH);; }
digitalWrite(5, LOW);

________
T T L) b
.......

......................................................................

...... i void backward() {
digitalWrite(2, LOW); | . digitalWrite(2,LOW); # i& & &
gdigitaIWrite(3,HIGH);§':--t-F- .................. N . digitalWrite(3,HIGH);
digitalWrite(4, LOW); | && . digitalWrite(4,LOW);

LGl E(E, (e  digitalWrite(S,HIGH);
delay(1000); )
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void setup()
{pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT); }

void loop() {

a=analogRead(A5);

if(a<=700) TR H 3 75
{leftward();} 700 ) }
else EEU%:;E
{forward();} } B piEsE .

void forward(){
d|g|taIWr|te(2HIGH)
§digita|Write(3,LoW);

: A

 digitalWrite(4,HIGH);
- digitalWrite(5,LOW); }

.......................................................................

§d|g|ta|Wr|te(2 LOW);

- digitalWrite(3,HIGH);
- digitalWrite(4,HIGH);
 digitalWrite(5,LOW); }

.......................................................................
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void setup()
{pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT);

}

void loop()

{

5% e AEAE

while (analogRead(A5)-analogRead(A7)>10)

{ rightward(); } B

i o B8 i
while (analogRead(A7)—an5?og RjeVa%(AS)> 10)

{ leftward(); } &
stopward(); =+
}

void leftward(){
digitalWrite(2,LOW);
digitalWrite(3,HIGH);
digitalWrite(4,HIGH);
digitalWrite(5,LOW);}

void rightward(){
digitalWrite(2,HIGH);
digitalWrite(3,LOW);
digitalWrite(4,LOW);

HE

digitalWrite(5,HIGH); }

void stopward(){
digitalWrite(2,LOW);
digitalWrite(3,LOW);
digitalWrite(4,LOW);
digitalWrite(5,LOW); }

(EXin

while (A5 -A7>10)

{( £} EEHPARE
while (A7 -A5>10) | 10222 - 58,20
{ £4 ) BaaE
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fatb# A(analogRead) 4B L&t (analogWrite)
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int speed=0;

void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,OUTPUT);
pinMode(5,0UTPUT);
}

void loop() {
speed=(analogRead(5)+200)/5;
digitalWrite(2,HIGH);
analogWrite(3,speed);
digitalWrite(4,HIGH);
analogWrite(5,speed);
}

3
2
BHiEHER

1.5V J 1.5V

A B B5&E

High|High| =
Low | Low | f=
High| Low | &
Low |High| [Fiz

ArduinoE iR

N

(el
oo

.00&
®|0C O 62
@0 O gz
200 O /2
SeJ0 0 9z

o
~
o
=)
>

=
2]
=

o
6
oo
H
S

o
=
ey
=
=S
=
m
B
=
=

[¢]

. A-A A-B B-AB-B VCCGND
wst  ArduinoNano 8L 110s

A4 A5 A6 AT 5V RsTaNDVN |© © © OO0 0000000000
©00000000c0000000000000O0
000000000 000000D00O0000O0O0

JEN N Y

PN REA DRI ©ONO O R WN

oo\(o\o o
NN N
UJI\)&OLD

©00lgzooole
00|,zooo0le

///09000.
620 O Ofe

%_¥OOQO \&000 00000 OOOOO
0Oo0O0O0 [e]

[elelNe) 0Oo0oo0oo0o0 0Oooo0o

R8 30KQ #E#HE2



B2l &N PFE ~ AT

void setup()

{ pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT);
pinMode(6, INPUT);
pinMode(7, INPUT);

}

void loop()

{
if (digitalRead(6) == LOW)

..............................................................................................

. {digitalWrite(5, HIGH); % # & 4 |

. digitalWrite(4, LOW);

- {digitalWrite(5, LOW); % # &4 :

digitalWrite(4, HIGH);

..............................................................................................

{digitalWrite(3, HIGH); % # & # |

digitalWrite(2, LOW);

{digitalWrite(3,LOW); % # i i :

digitalWrite(2,HIGH);
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float timel=0;
float time2=100;
float totaltime=100;

void setup()
{pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT);
pinMode(6, INPUT);
pinMode(7, INPUT); }

void loop()

{
if (digitalRead(6) == LOW)

{d|g|ta|Wr|te(4LOW) ...............................
. digitalWrite(5, HIGH);

tlmel millis()/1000; }

E{dlgltaIerte(Z LOW) R i
- digitalWrite(3, HIGH); '
i time2=millis()/1000; }

...........................................................................................................

i totaltime=time2-timel;

if (abs(totaltime)<=0.5){

. digitalWrite(2, LOW);
digitalWrite(3, HIGH);
digitalWrite(4, LOW);
digitalWrite(5, HIGH);
delay(500);
digitalWrite(2, LOW);
digitalWrite(3, HIGH);
digitalWrite(4, HIGH);
digitalWrite(5, LOW);
delay(800);
timel=0;
time2=100;
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float timel=0;

float time2=100;
float totaltime=100;
void setup()

{ pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT);
pinMode(6, INPUT);
pinMode(7, INPUT); }

void loop()
{ boolean a,b;
Edelay(lO);
‘b=digitalRead(6); :
)
(digitalWrite(d, LOW); 25200175
Q|g|taIWr'|t§(5, HIGH); j{:@;%?%lfﬁﬂ
timel=millis()/1000; }
else
{digitalWrite(4, HIGH);
digitalWrite(5, LOW); }

‘a=digitalRead(7);

.delay(10); %R A
b=digitalRead(7); ... |
if (@a==LOW && b==LOW)
{digitalWrite(2, LOW);
digitalWrite(3, HIGH);
time2=millis()/1000; }
else
{digitalWrite(2,HIGH);
digitalWrite(3,LOW); }
5'""'('6'{5'I‘c"i""rﬁ'é'":"'fi"ﬁi'é?"—"fi"r'ﬁ"e""l";' ..............................................
. if (abs(totaltime)<=0.5)
. { digitalWrite(2, LOW);
digitalWrite(3, HIGH);
digitalWrite(4, LOW);  fa 4 4 4 43 )
digitalWrite(5, HIGH); 5] 5t 41 2 5 1
delay(500); FESY'T S
digitalWrite(2, LOW); # @ # i &.
digitalWrite(3, HIGH);
digitalWrite(4, HIGH);
digitalWrite(5, LOW);
delay(800);
timel=0;
time2=100; } }
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while (digitalRead(8) == LOW) { f= & }
if (digitalRead(7) == LOW)
{ £88 }
else
{ BE17 }
if (digitalRead(6) == LOW)
{ 588 } 145V H45V
else R1 ORm
{ BT ) s
) ¢ LB 19110 "
;ii%' -lﬁa 145V 7‘
SV £
void setup() ’ o R1 =
{ pinMode(2, OUTPUT); v oV ) e
pinMode(3, OUTPUT); = e
pinMode(4, OUTPUT); 3 Arduino ~ EER
pinMode(5, OUTPUT);
pinMode(6, INPUT); VY X~
pinMode(7, INPUT); —— |£A — %;B
plnMode(S,INPUT),} Low | Low | *# Low | Low | #*
Low |High| #T i Low |High| #T &
VOid |oop(){ High| Low | % i& High| Low | % i&

while (digitalRead(8) == LOW) {
digitalWrite(2, LOW);

digitalWrite(3, LOW); = - - Pas
digitalWrite(4, LOW); A
digitalWrite(5, LOW); ) n °)
.
if (digitalRead(7) == LOW) r

{digitalWrite(2, LOW); = \
digitaIWrite(E%, HIGH);, } =& m— A,.\_c...-in,r
else 6 0 04758 0 oo Seaaea ;‘:. AN

{digitalWrite(2, HIGH);
digitalWrite(3, LOW); } e
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if (digitalRead(6) == LOW) US| > B,
{digitalWrite(4, LOW); 5B ot 0 1
digitalWrite(5, HIGH); } co0000

else 222223
{digitalWrite(4,HIGH); \ N
digitalWrite(5,LOW); } 2 Nl

}
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float timel=0;
float time2=100;
float totaltime=100;

void setup()
{pinMode(2, OUTPUT);
pinMode(3, OUTPUT);
pinMode(4, OUTPUT);
pinMode(5, OUTPUT);
pinMode(6, INPUT);
pinMode(7, INPUT); }

{ while (analogRead(A5) <=300)
 {digitalWrite(2, LOW);

: digitalWrite(3, LOW); ZmEniEE

. digitalWrite(4, LOW);
- digitalWrite(5, LOW); }

if (digitalRead(6) == LOW)

- {digitalWrite(4, LOW); 49 @BiE%)

. digitalWrite(5, HIGH); Afi & &
- timel=millis()/1000; }
‘else

. {digitalWrite(4, HIGH);

. digitalWrite(5, LOW); }

if (digitalRead(7) == LOW)

 {digitalWrite(2, LOW); a1 mafsna)

- digitalWrite(3, HIGH); B
time2=millis()/1000; }

:else

{ digitalWrite(2,HIGH);

. digitalWrite(3,LOW); }

........................................................................................................

: totaltime=time2-timel; musrpgT:

| if (abs(totaltime) < =0.5){ E 12l
. digitalWrite(2, LOW);
digitalWrite(3, HIGH);
digitalWrite(4, LOW); &E0.5¥
digitalWrite(5, HIGH);
delay(500);
digitalWrite(2, LOW);
digitalWrite(3, HIGH); =0 gm
digitalWrite(4, HIGH);
digitalWrite(5, LOW);
delay(800);
timel=0;
time2=100; }
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B Arduino
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while(D62 A 23k ea153%) { )
timel=8 AT 8 Fd
while(DTA A 2l sk ey 15 3%) { } gy
time2=8 AT 8F B

B R R Fa=time2-timel
e M raiE e % R L

floattimel,time2,totaltime; Float & 4 ) B2k o) 1% 25 4 #

Arduinof2 X B ¥ 47 2| AL 69 B85 R >
pinMode(7,INPUT); } 1000214 -

Serial.println e B3 TRHEFZE L

void loop() {
while(digitalRead(6)==HIGH){ }
timel=millis();
while(digitalRead(7)==HIGH){ }
time2=millis(); —

—
totaltime=(time2-timel)/1000;
Serial.printIn(totaltime); }
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void setup() { Serial.begin(9600)
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void setup(){ }

void loop() {
tone(2, 784);
delay(200);
noTone(2);
delay(20);
tone(2, 784);
delay(200);
tone(2, 880);
delay(500);
tone(2, 784);
delay(500);
tone(2,1047);
delay(500);
tone(2, 988);
delay(1300);

g2fEE, FRXEIAR

intso2 =784;
intla2 = 880;
intsi2 = 988;
intdo3 =1046;
void setup() { }
void loop() {
tone(2,502);
delay(200);
noTone(2);
delay(20);
tone(2,502);
delay(200);
tone(2,1a2);
delay(500);
tone(2,502);
delay(500);
tone(2,do3);
delay(500);
tone(2,si2);
delay(1300);
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melody A duration #3273l - FHE6EEETE
int melody[] ={s02,s02,la2,502,do3, si2};

int duration[] ={ 200,200, 500,500, 500,1300};
AR B
melody[0]=s02=784

B - tone(n,k)
melody[2]=1a2=880 I8 S KR IR BB =
duration[5]=1300 noTone(n)
ZniliEIHIRE

£3EER AMARS K FOR EBEEEED

intso2 =784;

intla2 = 880;

intsi2 = 988;

intdo3 =1046;

void setup() {}

void loop() {

intmelody[] ={s02,s02,1a2,5s02,do3, si2};
int duration[] ={ 200,200, 500,500, 500,1300};
for(intA=0;A<6;A=A+1){

tone(2, melody[Al);

delay(duration[A]); }
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void setup()
{pinMode(2,0UTPUT); L]
pinMode(3,0UTPUT);
pinMode(4,OUTPUT);
pinMode(5,OUTPUT);
pinMode(7,INPUT);

pinMode(8 OUTPUT);
digitalWrite(2,HIGH);
digitalWrite(3,LOW);

o o
D5 D4 D3 DZWNQQ

o 00000
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wsr Arduino Nano 7 18L9110s
DISSVSREF AD A1 A2 A3 A¢ A6 A6 AT 5V Rstaioun |O © © 000000000
0000 oo

o
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o

o000 000
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void loop() ©000000000000900008199900000000
{long a; ‘s\mzmmmgo:i;a:a}w_mwww;;
a= Ping(7,8); BRI BIEETAE
. 4o R IE BN A200 o ok 8 N\
if(a<20) 5 Aot A 47 Bk R R B
 {digitalWrite(4,LOW); & BRRBIGRARE L [N D
digitalwrite(s wic); ) ¥
LS e B =TT
g{digitaIWrite(4,HIGH); : +11°
_digitalWrite(5LOW); ) ABESR | 4 d W

W

] BARA TG
5 : : . 2 HFEoHR—R EFAERE
‘long Ping(intaa,intbb) TR EE -

g{long duration, cm;
digitalWrite(bb, HIGH);

. digitalWrite(bb, LOW);
. duration = pulseln(aa, HIGH);
. returncm = 0.0340*duration/2; }
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{75 48 £659 > #4850, 180} BEK

4o R B B R 730 4
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void setup() £ 8 . DI
{pinMode(2,0UTPUT); P hn 600060000
pinMode(7,INPUT); o 600600000

inMode(8,0UTPUT);} USB B, \
i et ess ".3".‘’T;ﬁ."érgv.m’l.?Lq“.aDnV(')N m ©600000000
void loop() { ©000000000000800009999000060000
long aa; GRS HE B
aa=Ping(7,8); 1M faa BT BIEETIE
if(aa<10) e e 3 kR B %

{tone(2,523); —

. delay(100);} 3 4t HC'SEM

 if (aa>=10 &8 aa<20) 8258

. {tone(2,587); 1]

. delay(100);} F2EZ

- if (aa>=20 && aa<30) B 5 4R R R T H100%E H (2 5)

. {tone(2,659): BE BE AR IR 0 JE F AR F"%

i delay(100);} void setup()

. if(aa>=30 &8 aa<40) {pinMode(2,0UTPUT);

{tone(2,698); pinMode(7,INPUT);

: delay(100);} pinMode(8,0UTPUT);

: if (aa>=40) }

. {noTone(2);} void loop()

....} .............................................................................. {Iong aa; .

2 % B 9B & =, aa= 100*Ping(7,8);

:. ...................................................................................................... : tone(2’aa),

: long Ping(int bb,int cc) delay(50); }

. {longduration,cm; [ | e REARMELN
digitalWrite(cc, HIGH); long Ping(int bb,int cc)
selayMicroseconds a0 e S
digitalWrite(cc, LOW); delayMicroseconds(10);
duration = pulseln(bb, HIGH); : digitalWrite(cc, LOW);
return cm = duration*0.034/2; }! duration = pulseln(bb, HIGH);

Ao EE%E ..... HTFﬂ*ﬁ ..... /2 ....... r eturncm=duratlon*0034/2,}
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%k( AN
14 5V #HEE# A (analogRead)
HF FREARES
EE,/)\L—FX .
&%E) pgapmErs | ATGUINO
A #HFERLEHA e R2 d
¢ D2 1 @— — T 1 —
LR N 3000 ( \ ( \
[]R4
o R2 3000 & 2ixé %
FlEERL R4 10KQ #2k4
while(A61E1R700){} | 70024800 *0000 00000 00000 00000 OOO\ﬂ
\ i o O o00Oo OO0OO0OO0O0 OO0Oo0OO0O0 O O0OO0OO0 (o)
5528 MEHEAE e —— '\,f
gc«;g;ggggcl\;;owm\‘mmkwwécjooo ®ooo0o0
o O0OO0000D0000D0D0D0D0DO0DO0ODO0DO0ODO0D0O0DOO0O0ODODOO0O0ODOOO
void setup() { ] 023 °335°°2°29¢
1
pinMode(2,0UTPUT); } A 6000000000000 00
mega
rst  Arduino Nano B R,
. D133V3REF A0 A1 A2 A3 Ad A5 A6 AT 5V RsTeDun |© © © 60000000
VOId|OOp() 0000000000000 0|00O 0co0oo0o0000O0
. OO0OO0OO0OO0OO0OOOO OO0OO0OO0OO0OOOOO0OO
{Wh|Ie(anangRead(A6)<700){} 0000000000000 QO0O0O0O000O0O0O0O000OO0O0O
. . . OO0OO0O0OO0OO0OOO0OOO0OO O0OO0OO0O0 O0OO0OO0OO0OO0OO0OO0OO
digitalWrite(2,HIGH); \gwﬁgmmﬁg\»iaa:asﬂwwm»wm
delay(2000); N 3923 99930 whose syess g2zl
digitalWrite(2,LOW); }

FTEMERINE
gEMEE
A6 ;

MR (AR 700)
(EE2W )

BERABET =

LhRORILEERR
i

int v;

void setup() {
pinMode(2,0UTPUT);
}

void loop()
{ v=analogRead(Ab);
if (v>700)

delay(2000));
digitalWrite(2,LOW);

{ digitalWrite(2,HIGH);

=] %@@#&’
BFiedadsd it
RAAORE X -

}
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intvl,v2;
void setup() {
pinMode(2,0UTPUT); }

void loop()

{ vl=analogRead(A6);
delay(1);
v2=analogRead(Ab6); b
if (v2-v1) > 10) AL
{ digitalWrite(2,HIGH);

delay(2000);
digitalWrite(2,LOW); }
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A6 D2 i
300Q

FlEE=
{é R2F MW ERF
&P A R

whileC883F){}
timel=H IR E;

num=1;

while(B Bl fE-timel < 27)
{HREFEF){num=num+1} }

EENUMRLZ M AR 8 FRE

1R R 386 F R B~ 46 F BF R

#HLE I A (analogRead)
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N
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F
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D12D11D10 D9 D8 D7 D6 D5 D4 D3 D2 GNDRSTRUO X lo © © © © oOooo0o0oO0

USB £ O OO0 O0O0O0O0OO0OO0OO0O0O0OO0OO
tmega
328P LEIST Arduino Nano L

D133V3REF AD A1 A2 A3 A4 A5 AG AT 5V RST GND VIN 000@00000000
00000 ® ®©0 0 00|0O0CO0 OO0OO0OO0OOO0OO0O
Oo0Oo0oo0OO0 OO0OO0OO0OO0OOOOO

7002800
MEREKRE

floattimel; float B/NERHE R

: . kA B g T R
int num,i; int ZEEH TR K0
. delay(100)
void setup() { %%g—gé;ﬁﬁji?&]
. ﬁ P’ ‘;‘ﬁl NG
pinMode(2,0UTPUT); }  —%u+

v0|d loop() { ’fé //B'J Fiz) %:‘ 7%\%4 R

: whlle(analogRead(A6)<700){}

- timel=millis(); E—RIMF RS
. num=1;
- delay(100); 0. 14 M 7R B 442k F

while(millis()-timel < 2000){
if(analogRead(A6)>700)

{ delay(100); gm2pm#n T 4%+ |
num=num+1; } } :

...........................................................................................................................

t for(i=1;i<=num;i=i+1)

. { digitalWrite(2,HIGH);
delay(500);
digitalWrite(2,LOW);
delay(500);

LEDPnums

® 00
Oo0OO0O0
0O0O0O0O0OO0OOOODOOO0OO 000000000000 0ODOO0OO0
0000000 0O0OO0O0OO0O o O0OO0OO0OO0O0 0O0O0O0O0O0O0O0OO0OO0OO
\ngwmwg\ 3;;;:Mwmwmwm
\\OOOO 0O0OO0OO0OO0 \ 000 ;OO 0O000O0
O O0O0O0 0O00O00O0 o O0O0O0 (o] 00O 0O 0O0O0O0
while(G24F)(}
P ] kS
F2ME=E time1 =B A1 5% FS;
18R 38 F 15

while(G833F){}
time2=H g k5 &,
timel-timel T2 & P& A &

W7 &
BHBHE—_RF >
M & > B P& R

float timel,time2;

int num,i;

void setup() {
pinMode(2,0UTPUT); }

void loop() { ’fé Al 48 % H:'jb‘ Fa'j

¢ while(analogRead(A6)<700){}

- timel=millis(); E—RI\FHRHE

. digitalWrite(2,HIGH);

- delay(100);

- while(analogRead(A6)<700){}
time2=millis(); B REFHOHE
- digitalWrite(2,LOW); 5 4 £ 5 ¢ nunss
{ num=(time2-timel)/1000; *

 for(i=1;i<=num;i=i+1)

. { digitalWrite(2,HIGH);
delay(500);
digitalWrite(2,LOW);
delay(500);}

LEDPInunk |
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#tb & A (analogRead)

+4 .5V
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Arduino
D5
B FEBERER L
A A6 D4
D3
R8 D2

F1EEZET
#48F,
EFmE R
if (A6>800)
{ 8w Al E;
EE}%E?&, |§2|§1|§OD.9D.8D.7D.6[£D.4D.SD.ZGNDRSTRXOW
delay(2000); B ot
E@% 1%[ %33£SREFAO A.1 ;ﬁ A3 A4 A2A6.A7 5V RTSD VK 2
BiRIF;
delay(500); } AL SaEON
e 0O — N\
void setup() { F2EiE N
pinMode(2,0UTPUT); i‘?-#%éfft’ﬁl%' B F, EFRBEIH
pinMode(3,0UTPUT); Y [ voidsetup0 1
pinMode(4,0UTPUT); 'f(/f;z)\? pinMode(2,0UTPUT);
pinMode(5,0UTPUT); { Wi : .
: E#ETE p!nMode(B,OUTPUT),
2,3,4,5— BItAZ ELOW delay(2000); || ~ PinMode(3,0UTPUT),
' 7 B AT pinMode(5,0UTPUT);
vellel Lol FRATE; digitalWrite(2,HIGH);
{if (analogRead(A6)>800) delay(500); } digitalWrite(4,HIGH); }
{
digitalWrite(2,HIGH); 5 4 |52A void loop()
digitalWrite(4, HIGH); Low [ Low| # {if (analogRead(A6)>800) {
delay(2000); Low | High | AT i digitalWrite(2,LOW);
digitalWrite(2,LOW); High| Low | # i& digitalWrite(3,HIGH);T§;E
dlgltaIerte(4,LOW), 3 > .%3%8' delay(looo),
Sielieytialnl; Low | Low| # digitalWrite(2,HIGH); -
} PRV Low [High #f i digitalWrite(3,LOW);
B AR R A LR ' 4% 3R .
} W@%%é;% High| Low | % & delay(500); '}
}
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float timel;

int num;

void setup() {
pinMode(2,OUTPUT);
pinMode(3,0UTPUT);
pinMode(4,OUTPUT);
pinMode(5OUTPUT); }

void loop() {
whlle(analogRead(A6)<800){}
. timel= millis(); :
num=1;
delay(100);
while(millis()-timel < 1000){
if(analogRead(A6)>800) {
delay(100); =

num=num+1; } }

5 ﬂWﬁ?%ﬁ¥5

- forward();

. delay(2000);
 stopward(); | A7
. delay(500);

................................................

: backward();
_delay(2000);
 stopward();
. delay(500);

#BIR2W

................................................

leftward(); :
.delay(500); | gm0 S
. stopward();

. delay(500);

rightward();
.delay(500); #5055
- stopward();

Ede lay(500);

switch(num) {
case 1:
AAAA;
break;
case 2:
BBBB;
break;
case 3:
CCC(G;
break;

MRnum=1
TMEITAAAA

MRnum=2
M#.7TBBBB

MRnum=3
M#E1TCCCC
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digitalWrite(2,HIGH);, BREERES
digitalWrite(3,LOW); ...

digitalWrite(4 HIGH); DI
digitalWrite(5,LOW); }
void backward (){
digitalWrite(2,LOW);
digitalWrite(3,HIGH); /.5
digitalWrite(4,LOW); ®R

digitalWrite(5,HIGH); }

void leftward(){
digitalWrite(2,LOW);
digitalWrite(3,HIGH);, A&
digitalWrite(4,HIGH);
digitalWrite(5,LOW); }

void rightward(){
digitalWrite(2,HIGH);
digitalWrite(3,LOW); HiEE
digitalWrite(4,LOW);
digitalWrite(5,HIGH); }

void stopward(){
digitalWrite(2,LOW); N
digitalWrite(3,LOW); &
digitalWrite(4,LOW);
digitalWrite(5,LOW);}
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#include <IRremote. h>
int receiver = 7;
IRrecv irrecv(receiver);
decode_results results;
void setup()
{
Serial. begin(9600);
irrecv. enablelIRIn();

}

void loop() {
if (irrecv.decode(&results)){
Serial.println(results.value);
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delay(100);
irrecv. resume();
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#include <IRremote.h>

int receiver = 7;

IRrecv irrecv(receiver);

decode_results results;

void setup(){
irrecv.enablelRIN();
pinMode(2,OUTPUT);

void loop() {

if (irrecv.decode(&results)){

............................................................................................

:switch(results.value) {

. case 16724175:
newtone(2,523,200);
break;

case 16718055:
newtone(2,587,200);
break;

case 16743045:
newtone(2,659,200);
break;

case 16716015:
newtone(2,698,200);
break;

case 16726215:
newtone(2,784,200);
break;

case 16734885:
newtone(2,880,200);
break;

delay(10);

}

...........................
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irrecv.resume();

}}

EEZRAER T EIRremote.h
MEEEEStone()BE&3E -

o] A= @ & Enewtone()

Btone()EEIES -

.....................................................................................................................................................

void newtone(intt, intf intd) {

intp =1000000L /f;
int pulse =p/2;

for(longi=0;i<d*1000L;i+=p){
digitalWrite(t, HIGH); :
delayMicroseconds(pulse);
digitalWrite(t, LOW);
delayMicroseconds(pulse); } }

newtone (¥ H #yp > 42 % > BFR)
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#include <IRremote.h>
intreceiver = 7;

IRrecv irrecv(receiver);

decode_results results;

void setup(){
irrecv.enablelRIN();
pinMode(2,OUTPUT);
pinMode(3,OUTPUT);
pinMode(&4, OUTPUT);
pinMode(5 OUTPUT); }

void loop( {
if (irrecv.decode(&results)){
switch(results.value) {
case 16736925:
forward(); 77 &
break;
case 16754775:
backward(); 44 iR
break;
case 16720605:
Ieftward();]}—_ii}
break;
case 16761405:
rightward(Q); £ &
break;
case 16712445:
stopward(; 4=
break; }
delay(100);
irrecv.resume();

o

: A

ivoid forward({

: digitalWrite(2,HIGH);
digitalWrite(3,LOW);
digitalWrite(4, HIGH);
digitalWrite(5,LOW); } i

‘void baé%v%ard(){

digitalWrite(2,LOW);
digitalWrite(3, HIGH);
digitalWrite(4,LOW); :
digitalWrite(5 HIGH); }!

%3 :

ivoid leftward (){

; digitalWrite(2,LOW);
digitalWrite(3, HIGH);
digitalWrite(4, HIGH);
digitalWrite(5,LOW); }

- void rigﬁt%}vard(){

5 digitalWrite(2,HIGH);
digitalWrite(3,LOW);
digitalWrite(4,LOW);
digitalWrite(5,HIGH); }

Evoid stopﬁvard(){

digitalWrite(2,LOW);
digitalWrite(3,LOW);
digitalWrite(4,LOW);
digitalWrite(5,LOW); } i

4T g 42 3%

~ N
- elcle
g¢ @E
\ -
if (12 T ) ?g_%_ Q O
switch(1Z 2 R i) 000 7 izt
{case 16736925: 000 a3
AT Ce= AT, 1R AR, £ 9%, AW, 1%k
case 16754775: - ,
&R
case 16720605: @, |
fbE 2 38KHz4r b sz 45 4
case 16761405: J_ L9110
H =Ly D5 7‘
case 16712445: - D4
£} D3 e
} D2 miE
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BEw3T A=1%%

if (D9 £ & T 1x)
{aa=1;}

if (D10 & & & 1)
{bb=1;}

if (D112 & & 4x)
{cc=1;}

dd=cc*4+bb*2+aa;}

’

void setup(){ )
pinMode(2,0UTPUT);
pinMode(9,INPUT);

pinMode(10,INPUT);
pinMode(11,INPUT);

}

E £ R,
v0|dloop(){ .......................................................
©int ee=checkMode();

flash(ee);

delay(2000); }

.............................................................................................

: intcheckMode(){ Raz4T4Y ufx
. intaa=0,bb=0,cc=0,dd;
if (digitalRead(9) == HIGH)
{aa=1}
if (digitalRead(10) == HIGH) !
{bb=1;} 5
if (digitalRead(11) ==
{cc="1]}
dd=cc*4+bb*2+aa;
returndd; }

HIGH)

............................................................................................

¢ void flash(int n) { E9n=

for(inti=1;i<=n;i=i+1)

. { digitalWrite(2,HIGH);
delay(300);
digitalWrite(2,LOW);

delay(300); 1} }

flashiR L2 BreturnB{E &
FrABTEZ 0 Evoid
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( void setup(){ }
v0|dloop(){ ............................................
. intee=checkMode():
switch (ee) {
case 0:
action0(); #2 &0
break;
case 1:
action1(); #2 K1
break;
case 2:
action2(); #z .2
break;
case 3:
break;
case4:
break;
case 5:
break;
case 6:
break;
case7:
break;

int checkMode(){ 1% = /5% é,?(
|ntaa—0,bb—0,cc=0 dd:
if (digitalRead(9) == HIGH)

{aa=1;}

if (digitalRead(10) == HIGH) :

{bb =1;} §

if (digitalRead(11) == HIGH)

{cc=1;)
dd=cc*4+bb*2+aa;

returndd; } :

 voidaction0() A\ AE /s 2 K, |

- {while(6>5){#2 X0 }}

void action1()
{while(6>5){#z .1 }}

void action2()
i {while(6>5){#2 %.2 }}
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i #include <IRremote.h> R, L ss s R s RR AR, oA AR AR RS
fl(zat timel, time2, totaltime; i i void action0(){ ; vold action4() { 4 i i void action6(){ 6
iin num; N R ] . 1
Lol e | E%%Et while(6>5){ while(6>5){ i1 while(6>5)( ;

pinlode(2, OUTPUT); digitalWrite(2,HIGH); while(analogRead(A6)<800){} if (digitalRead(6) == LOW)

delay(1000);

pinMode(3, OUTPUT);
digitalWrite(2,LOW);

pinMode (4, OUTPUT) : el

{digitalWrite(4, LOW);

binliode(5. OUTPUT) i i delay(1500); num=1; i i digitalWrite(5, HIGH);
pinMode (6, INPUT) } Bl - 2 delay(100); ! BE21 i
pinMode(7, INPUT); HE while(millis()-timel < 1000){ { i else

pinMode(8, OUTPUT) ;

if(analogRead(A6)>800) {

delay(100);

num=num+1; } E

} if (digitalRead(7) ==
] {digitalWrite(2, LOW);

{digitalWrite(4, HIGH);

pinMode (9, INPUT); N .
digitalWrite(5, LOW);

pinMode(10, INPUT);
pinMode(11, INPUT); }

i void action1(){ 1
i i while(6>5){
i if(digitalRead(6)==LOW) {

: void loop() { digitalWrite(2,HIGH); LOW)
}

int ee= checkMode() switch(num){

else{cc = 0;}
dd= cc*4+bb*2+aa;
return dd;

ivoid forward () {

i digitalWrite(2,HIGH) ;
i digitalWrite(3,LOW) ;
! digitalWrite(4,HIGH) ;
i digitalWrite(5,LOW) ; }

i void backward() {

i digitalWrite(2,LOW) ;
i digitalWrite(3,HIGH) ; ?ﬁ@
i digitalWrite(4,LOW) ;
i digitalWrite(5,HIGH) ; } ;
i void leftward() {

i digitalWrite(2,LOW) ; :
: digitalWrite(3,HIGH) ; /¢ B !
i digitalWrite(4,HIGH) ; :
i digitalWrite(5,LOW) ; }

i void rightward() {

: digitalWrite(2,HIGH) ;
 digitalWrite(3,LOW); o B2
i digitalWrite(4,LOW) ;

i digitalWrite(5,HIGH) ; }

i void stopward() {

EdlgltaIerte(2 LOW);
i digitalWrite(3,LOW) ;
i digitalWrite(4,LOW) ;
;digitaIWrite(S LOW) ;

i

i =

int receiver=7;
IRrecv irrecv(receiver);
decode_results results;
irrecv.enablelRIn();

while(6>5) {

if(irrecv. decode(&results)){

switch(results.value){

case 16750695 :

forward() ;
break;

case 16726215
backward() ;
break;

case 16724175:
leftward() ;
break;

case 16743045
rightward() ;
break;

case 16718055:
stopward() ;
break;

}

delay(100);

irrecv.resume() ;
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{digitalWrite(4,HIGH);
digitalWrite(5,LOW);
I

long Ping(int aa,int bb)

{

long duration, cm;
digitalWrite(bb, HIGH);
delayMicroseconds(10);
digitalWrite(bb, LOW);
duration = pulseln(aa, HIGH);
return cm = 0.0334*duration /
}

switch Cee) { Pi o elsef i casel: i i digitalWrite(3, HIGH);
case 0: 1o mamnE s c;|g|taIWr|te(2 ,LOW); i forward(); PE
action0();// Bl - 2 =R o delay(2000); = “A alse
B i B B4 5 i stopward(); 5533 {1 (digitalWrite(2,HIGH);
—h B | delay(500); diGitalWrite (3, LOW:
actionl(); /B84 - SEETEEZ=HE - F! i break;
break; S ! case 2:
case 2: v0|d action2() { 2 backward();
action2(); //E 536 IIMEEIEE : intreceiver=7; i i delay(2000); :
break; IRrecv irrecv(receiver); i stopward(); i i void action7(){
case 3: decode_results results; i delay(500); i i booleana,b; 7 ;
action3(); /B 536 ERERRTH=1T) e : break; time1=0; -
break; while(6>5) { i i cases: time2=100; EED3
case 4: if(irrecv. decode(&results)){ i leftward(); while(6>5){
action4(); /B 533 IAFEE switch(results.value){ i delay(500); a=digitalRead(6);
break; case 16736925 : : stopward(); delay(10);
case 5: forward() ; — A i delay(500); b=digitalRead(6);
action5(); //R#28 BERER20A% break; ~ EER36{ | preak; if (a==LOW && b==LOW)
break; case 16754775 : : ! case4: {digitalWrite(4, LOW);
5@ G backward() ; rightward(); digitalWrite(5, HIGH);
action6(); //ZE 8§21 AToMeEE bugele : delay(500); P time1=millis()/1000;
break; case 16720605: i stopward(); }
case7: Ibeftwkalrd(); i delay(500); {Zl'sett R —
i C /BB % B 3 1 reak; i break; i igitalWrite(4, H
Zi::kr?()' (/W23 ATSHRRRAGESIRIH) case 16761405 : i .‘bea)}} : digitalWrite(5, LOW);
1 rightward() ; }
break - e L a-digitalRead(7);
' int checkMode(){ N case 16712445: {long a; 5 deIgy(lO);
: intaa,bb,cc,dd; Slgpgerel); digitalWrite(2,HIGH); b=digitalRead(7);
if (digitalRead(9) = HIGH) LS i i digitalWrite(3,LOW); ; if (a==LOW &8& b==LOW)
{aa=1;} } i 1 while(6>5){ e {d!g!taIWr!te(Z, LOW);
else{aa= 0;} Sl i a=Ping(7.8); EiR28: digitalWrite(3, HIGH);
if (digitalRead(10) == HIGH) irrecv.resume() ; if(a<20) time2=millis()/1000;
{bb = 1;} 0 {digitalWrite(4,LOW); }
else{bb = 0;} digitalWrite(5,HIGH); else _
if (digitalRead(11) == HIGH) o } {digitalWrite(2,HIGH);
{cc =13 i voidaction3() { else digitalWrite(3,LOW);

}

totaltime=time2-timel;

if (abs(totaltime)<=0.5){
backward();
delay(2000);
leftward();
delay(1000);
forward();

timel=0;

time2=100;

i}
b}

BiR36
BiR36
B33
BiR28
BiR21
Big23
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s.write(0)

s.write(90)

—

s.write(180)

AEE0M180Z [
\. J

#include <Servo.h>
Servo s;

void setup()
{s.attach(3);}

void loop()
{s.write(0);
delay(2000);
s.write(90);
delay(2000);
s.write(180);
delay(2000);

F2EE

#include <Servo.h>
Servos;

intp=0;

void setup()
{s.attach(3);}

void loop()

{for(p=0; p<=180; p=p+2)
{s.write(p);
delay(100);}

for(p=180; p>=1; p=p-10)
{s.write(p);
delay(100); }

}
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void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,0UTPUT);
pinMode(5,0UTPUT);
}

void loop() {
for(i=2;i<=5;i=i+1)
{digitalWrite(i,HIGH);
delay(100);
digitalWrite(i,LOW); }

delay(lOO)Eiﬁdeelay(IO)

®E &

BRAR -
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void setup() {
pinMode(2,0UTPUT);
pinMode(3,0UTPUT);
pinMode(4,OUTPUT);
pinMode(5,OUTPUT);
}

void loop() {
for(i=5;i>=2;i=i-1)
{digitalWrite(i,HIGH);
delay(10);
digitalWrite(i,LOW); }
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